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The sinusoidal voltage pulse below in (2) iz applied to the circuit shown
iz (b). Use the convolution integral tw find the value of V', at =< sec.
{153%)
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The frequency of the sinvsoidal wvoltage source im the circuit below s
adjusted o unity power-factor resonance. {15%)

{a) What is the Q of the coil at the resonang Irequency?
(b) What s the peak amphiude of V', at resonamt [requency?
foo K5

6.4K4 \ T 25 PF

(100 cos wgt) V

The impedance of a series RLC circuit is 400 + j 3800€) at a frequency

. of 200 K radfs. The circuit is scaled in magnitude and freqguency by the

reme  factor, and when the impedance is measured at 5 K radfs, it is
found w0 be 1600 - j 11,800 &1

(a} Calculate the origimal velues of R, L, and C,
(b} Calculate the rescnant frequency, (15%)
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4. For the following network, the switch has been open for a very long time
and -is closed at f=0. Please find 1) for t>G.  (20%)
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5.  Find the wvoltages at different nedes {ie., V7,. V., V¥.) for the following
network. {13%)
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6. In the following three phase system, it is asswmed the wattmeter iz ideal
and the balanced Y-—connecied Toad is contectsd to a halanced  three

phase  voltage source, If the load consumes complex power
S e lﬂﬂﬂ\/% £30°% VA, find the reading of the wattmeter. ¢ 20 ¥
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